Warm-up:  Electoral College (mock election)
Imagine that the United States consisted of 5 states -- Michigan, Ohio, Indiana, Illinois, and West Virginia.  On election day, 2020, the popular vote for president is as follows:    
Michigan
Smith		25,275
Jones		26,902
Ohio
Smith		41,235
Jones		40,121
Indiana
Smith		22,897
Jones 		18,934
Illinois
Smith		45,111
Jones 		46,100
West Virginia
Smith		14,202
Jones		13,334

Use the Electoral Map and a calculator to figure the results of the election.
a. Popular vote (nation-wide):  Smith  ___________    Jones ___________

b. Electoral vote:			Smith  ___________    Jones ___________

c. [bookmark: _GoBack]Our new president = ____________
